Mathematik * Jahrgangsstufe 9 * Losungen zu Aufgaben aus dem Lehrbuch

S.76 / Nr.7a | 4, ]
f(x) =x*—6x +9=(x-3)° \ \/a) Vi
Scheitel S(3/0) ‘x \ ' / /
f(x) =0 < x=3 ("doppelte” Nullstelle) L \7b) \ / /
Nr. 7b 14\
f(x) =x*—6x +4=(x-3)*-5 \\\ \\ /;"// // X
S(3/-5) of N\t [ 2 3/[ 4 5 °~
f(x)=0 & x-3==£,/5 A \ -/7C i /
xl=3+£z5,24 und x2:3—£z0,76 2 ) /
Nr. 7c \\ /
f(X) = X2+ 2— 4x = (x—2)%— 2 ST \ | /
S(2/-2) 4
f(x)=0 & x-2=%/2 e
X, = 2+~/2 ~3,41 und x,=2-+/2 ~ 0,59

S.76 / Nr. 8a
X*—4x +1=0 & x*—4x+2°-2°+1=0 & (x-2)°=3 < X—2:i\/§ =N
Xy =2+ (3 (X, =2+3~373 und x,=2-,/3~0,27)
Nr. 8c
10 = x> < X, =+ 10 ~+316
Nr. 8e
(x+2)’+3=0 < (x+2)*=-3 keine Losung! L={}



